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Math 2551 A1-3 Exercise 20

Section:
Name:
Student Number:

The polar coordinate change maps a region G in the
fr plane to another region R in the zy plane. Let R be
bounded by 4 curves y = 22, x = 2, * = 1 and y = 10.
Then G must be bounded by which of the following curves?
(Mark “true” or “false” for each).

T\(U( € (A)r=2secd.
‘T’WM& (B) r = sec.

/)fmﬁ (€] r=104dz60.

ff—(’{ }4 s (D) r=tand. 19
o (A Eress
Volor zoord. (Mgé\ {?;ﬂ)ﬂg
P}blét m LM ﬂf 7he 4 AW/N% [y Ve i
Y=xT —> Ismp= o

=7 —> Vg = - Jaag

o —_
g=| = rosi. e

y=0 = oA =10 2 V=10



